DU+U/U+DU
(sans passage)

OBSERVE et SOUVIENS-TOI:

4+3=7
14 +3=17
Ll + 3 = 47

5+12=12+5
M+7=7+11

1. Compléte.

L+3=....
14+3=....

L) + LN = LN

35+L4=_..

. + LR N = LR N

8+21=....

.o + LR NN = LN

6+ 14=...

2. Inverse d’abord les deux termes. Compléte toutes les réponses ensuite.

6+21=....
21 +6= ...

e =2+ 104
2+ 14 = ...

veee. =6+ 51
6+51=...

vee. =1 +13
1+13=.....

.. =21 +6

L) + LN = LR N

. + LR N = LR N

.o + LR NN = LN

3. Complete.

12+4=_..

S5+ 14 =....

e =68 + 1

5+15=....

e =B+ 2

7+50=...

25+5= ...

1+37=...

veee. =6+ 51

19+1=...

5+83=...

Le+2=....

ere =2+ 23

10+10=.....

8+20=....

34+5=.....

e =6 + 82

vee. =53+ 7

3+2+13=....

24+ 4 +2= ...

e =2 +3+ 14

... =80+ 5

e =+ 142

e =16+ 3
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